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Alpha Numeric Symbol Series Questions for SBI Clerk Pre, IBPS Clerk 

Pre, LIC Assistant Pre and IBPS RRB Assistant Pre Exams. 
Alpha Numeric Symbol Series Set 45 
 
Directions : Study the following alphanumeric sequence carefully and answer the questions 
based on it. 
  
E # 4 Y Q % G 8 A 5 * U ! B 2 9 > X + P 3 Z ^ | S 7 M C 6 @ J K : W 
 

1. Which of the following elements is fifth to the right of twelfth element from left end? 

A. X   B. 2   C. >   D. 9   E. + 
 

2. What is the sum of composite numbers that come between second vowel from left 
end and second consonant from right end? 

A. 23   B. 15   C. 17   D. 25   E. None of these 
 

3. If all the even numbers are dropped from the sequence then which of the following is 
15th from right end? 

A. +   B. P   C. X   D. >   E. None of these 
 

4. How many symbols are immediately preceded as well as succeeded by consonant? 

A. None  B. 3   C. 2   D. 4   E. None of these 
 

5.  How many letters are immediately succeeded by a prime number and immediately 
preceded by a symbol? 

A. None  B. 1   C. 3   D. 2   E. 4 
 
 
 
 
 

Correct Answers: 

1 2 3 4 5 

C B A B C 
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Explanations :  
 
1.   The twelfth element from left end is ‘U’ and fifth to the right of U is ‘>’. 
  

Hence option C is correct. 
 
 

2. Second vowel from left end is ‘A’ and second consonant from right end is ‘K’. 
  

The sum of composite numbers is 9+6 = 15. 
  

Hence option B is correct. 
 

 

3. Given sequence: E # 4 Y Q % G 8 A 5 * U ! B 2 9 > X + P 3 Z ^ | S 7 M C 6 @ J K : W 
  

New sequence : E # Y Q % G A 5 * U ! B 9 > X + P 3 Z ^ | S 7 M C @ J K : W 
  

The 15th element from right end is +. 
  

Hence option A is correct. 
  
 

4.   Given sequence: E # 4 Y Q % G 8 A 5 * U ! B 2 9 > X + P 3 Z ^ | S 7 M C 6 @ J K : W 
  

Clearly we can be there are 3 such symbols which are immediately preceded as well as succeeded by 
consonant. 

  
Hence option B is correct. 
 
 

5. Given sequence : E # 4 Y Q % G 8 A 5 * U ! B 2 9 > X + P 3 Z ^ | S 7 M C 6 @ J K : W 
  

Thus there are 3 such letters which are immediately preceded by a symbol and succeeded by a prime 
number. 

  
Hence option C is correct. 
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